Geometry - Angles of a Triangle

Q1
B
X
4 c D
ABC is an equilateral triangle.
ACD is a straight line.

(a) Work out the size of the angle marked x.
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(b) Give a reason for your answer.
@
Q2
& Diagram NOT
accurately drawn
y 144°

(b) (i) Work out the size of the angle marked y.

(ii) Give a reason for your answer.
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POR is a straight line.
PO=05=0R

Angle SPQ = 25°.

(a) (i) Write down the size of angle w.
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(ii) Work out the size of angle x.

(b) Work out the size of angle y.
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ABC is an equilateral triangle.
ACD is a straight line.

(a) Work out the size of the angle marked x.
130 ~&0 = 1206

(b) Give a reason for your answer.
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(b) (i) Work out the size of the angle marked y.
4= %0 —((oc(+'3(>)
= 180 — 105
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(ii) Give a reason for your answer.
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Geometry - Angles of a Triangle
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POR is a straight line.
PO=0S=0R
Angle SPQ = 25°.

(a) (i) Write down the size of angle w.
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25 °
(ii) Work out the size of angle x.
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(b) Work out the size of angle y.
Ansl-e sqr = So° (ah a S‘érQ;SL)f [ e w1 th >C)
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